




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 



 

 

 

 

 

 



 
 
 

 
 

 

 

 



10-32 x 1/2" PAN HEAD BOLT
14 PLACES, 7 PER BRACKET

BRACKET, P/N 520295
2 PLACES

# 10 FLAT WASHER
12 PLACES, 6 PER BRACKET

# 10/12 GROUND WASHER
2 PLACES, 1 PER BRACKET

RIGHT SIDE VIEW
(LEFT SIDE SIMILAR)



 

 



 

 



SWITCH
S2

OPEN

CLOSED

4 3 2 1

1234

SWITCH
S1

SHUNT POD 
CIRCUIT CARD A1 

P/N 501981

FRONT VIEW
(DOOR NOT SHOWN)





BUSBAR
P/N 520289

BUSBAR
P/N 520289

3/8-16 X 1-1/2" HEX HEAD BOLT
3-8" BELLEVILLE WASHER

3/8" FLAT WASHER
12 PLACES, 6 PER BUSBAR

TORQUE TO 180 IN. LBS.

NOTE
APPLY ELECTRICAL ANTI OXIDIZING

COMPOUND TO BUSBAR MATING
SURFACES BEFORE INSTALLING

HARDWARE.



COVER
P/N 520312

REMOVE CUTOUTS
 (SHOWN SHADED) 

FROM TOP, BOTTOM 
OR REAR AS 

REQUIRED FOR 
WIRING.

SIDE COVER
P/N 521128
2 PLACES

6-32 X 3/8" THREAD-
FORMING SCREW
16 PER SIDE COVER

COVER MTG BRACKET
P/N 520313
2 PLACES

12-24 X 1/2" THREAD 
FORMING SCREWS
4 PER BRACKET
INTO RELAY RACK 
SIDE RAIL

NO. 12 GROUND WASHER
2 PER BRACKET

6-32 X 3/8" THREAD-
FORMING SCREW

16 PLACES

12-24 X 1/2" THREAD 
FORMING SCREWS

4 PLACES
INTO RELAY RACK 

SIDE RAIL





LEFT SIDE 
CUTAWAY VIEW

RIGHT SIDE 
CUTAWAY VIEW

FRONT VIEW
(DOOR REMOVED)

OUTPUT
(LOAD)

INPUT
(BATTERY)



USE THESE HOLES FOR
VERTICAL LUGS

RIGHT SIDE VIEW

USE THESE 
HOLES FOR 
HORIZONTAL 
LUGS



 

 

 

 

 

 

 



 

 

 

 

 



ENTRANCE HOLE
FOR ALARM, REFERENCE,

& CONTROL WIRING

CABLE TIE ANCHOR

CABLE TIE 
ANCHOR POINTS

CABLE TIE 
ANCHOR POINTS



NC NOC

Normally Closed (NC) & 
Normally Open (NO) refer 
to contact state with relay 

deenergized.  See text 
for operational status.

SHUNT
POD

1 2 3 4 5 6 7 8 9 10 11 12 1 2 6 73 8 9 10 11 12

DOOR
ALARM

FUSE ALARM

C
O

N
T

R
O

L
L

E
D

 B
A

T
 S

O
U

R
C

E

G
N

D

D
A

T
A

 I
N

D
A

T
A

 O
U

T

C
O

N
T

A
C

T
O

R
 C

O
N

T
R

O
L

N
E

G
 S

H
U

N
T

P
O

S
 S

H
U

N
T

OPEN
CONTACTOR

ALARM

NC C NO NC C NO NC C NO NC C NO

FA1 FA2 FA3
NC C NO

4

G
N

D

5

E
M

E
R

G
N

E
C

Y
 P

O
W

E
R

 O
F

F

TB1 TB2

A diode assembly may be required  
on Emergency Power Off lead.
See text.  See detail on next page
for diode installation.

Note:



Slide tubing on.
Leave 1/4" of diode
lead exposed.
Use heat gun to
shrink.

1/4"

Control lead from 
Emergency Power Off or 
Fire Alarm Disconnect switch

Strip 1/4" of
insulation.
Insert wire.
Crimp with
AMP 49935
or equivalent
crimp tool.

LBD2000 LIST 1 (–48V)
INSTALLING P/N 534989 DIODE ASSEMBLY

Connect to 
terminal 5 
of TB2.

1/4"

Control lead from 
Emergency Power Off or 
Fire Alarm Disconnect switch

LBD2000 LIST 11 (+24V)
INSTALLING P/N 534993 DIODE ASSEMBLY

Connect to 
terminal 5 
of TB2.

Strip 1/4" of
insulation.
Insert wire.
Crimp with
AMP 49935
or equivalent
crimp tool.

Slide tubing on.
Leave 1/4" of diode
lead exposed.
Use heat gun to
shrink.



 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



(RED / BLACK)  8

(RED / WHITE)  13

14  (GREEN / WHITE)

PIN-SIDE VIEW
CABLE PART NO. 520732 

(P/O P/N 520983 KIT)
(MATES WITH J1 IN SPEC. NO. 

581125000, 582125000 OR 582126000
MAIN BAY OR SUPPLEMENTAL BAY)

PIN-SIDE VIEW
CABLE PART NO. 540952

(P/O P/N 540951 KIT)
(MATES WITH JB IN SPEC. NO.
582121900 DISTRIBUTION BAY)

PIN-SIDE VIEW

1 8

CABLE PART NO. 520925
(P/O P/N 520927 KIT) 

(MATES WITH J3A OR J2A IN VPS 
SPEC. NO. 582121901 DISTRIBUTION BAY)

ISOMETRIC VIEW

ORANGE
(PIN 4)

WHITE / BROWN
(PIN 7)

(RED)  4

3 (BLACK)



G
R

E
E

N
 /
 W

H
IT

E

RED / BLACK

TO J1 OR J2 IN
VORTEX MAIN BAY

OR SUPPLEMENTAL BAY

FIRST BATTERY DISCONNECT PANEL

SECOND BATTERY DISCONNECT PANEL (IF PRESENT)

THIRD BATTERY DISCONNECT PANEL (IF PRESENT)

MAKE NO
CONNECTION

MAKE NO
CONNECTION

MAKE NO
CONNECTION

FURNISHED BY INSTALLER

FURNISHED BY INSTALLER

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

R
E

D
 /
 W

H
IT

E

Install Diode Assembly
P/N 534989 (List 1)
P/N 534993 (List 2)

P/N 520732 HARNESS (P/O 
P/N 520983 HARNESS KIT)

P/N 520926 (P/O P/N 
520983 HARNESS KIT)



FIRST BATTERY DISCONNECT PANEL

SECOND BATTERY DISCONNECT PANEL (IF PRESENT)

THIRD BATTERY DISCONNECT PANEL (IF PRESENT)

P/N 520926 P/O P/N
520927 HARNESS KIT

MAKE NO
CONNECTION

MAKE NO
CONNECTION

MAKE NO
CONNECTION

 

FURNISHED BY INSTALLER

FURNISHED BY INSTALLER

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

TO JB IN
SPEC. NO 582121900
DISTRIBUTION BAY

P/N 540952 HARNESS (P/O 
P/N 540951 HARNESS KIT)

R
E

D

BLACK



O
R

A
N

G
E

WHITE / BROWN

FIRST BATTERY DISCONNECT PANEL

SECOND BATTERY DISCONNECT PANEL (IF PRESENT)

THIRD BATTERY DISCONNECT PANEL (IF PRESENT)

P/N 520926 P/O P/N
520927 HARNESS KIT

MAKE NO
CONNECTION

MAKE NO
CONNECTION

MAKE NO
CONNECTION

 

FURNISHED BY INSTALLER

FURNISHED BY INSTALLER

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 1011 12

TB1 TB2

11 12

P/N 520925 HARNESS (P/O 
P/N 520927 HARNESS KIT)

TO J3A OR J2A IN
SPEC. NO 582121901
DISTRIBUTION BAY



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





CONTR FUSE

ALARMS

BATTERY
DISCONNECT
Switch

EPO RESET
(Emergency Power Off Reset)
Switch

BEHIND
DOOR



 
 
 

 
 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



DO THIRD!
LOOSEN BUT DO 
NOT REMOVE 
3/8-16 BOLTS
(3 PLACES)

DO SECOND!
LOOSEN BUT DO 

NOT REMOVE 
3/8-16 BOLTS

(2 PLACES)DO FIRST!
REMOVE 1/4-20 BOLT & 
WASHERS (1 PLACE) &

4-40 SCREWS & 
WASHERS (2 PLACES).
REMOVE CONTACTOR 

COVER.

DO FOURTH!
SUPPORT FUSE.
REMOVE 3/8-24 

BOLTS FROM FUSE
(8 PLACES, 4 PER END).

REMOVE FUSE.

WHEN INSTALLING NEW FUSE:

APPLY THERMAL COMPOUND TO 
BOTH CONTACT ENDS OF FUSE 
AND TO FUSE BOLT THREADS 

BEFORE INSTALLING.

TO AVOID DAMAGE, SEE TEXT FOR 
CORRECT INSTALLATION SEQUENCE.  

TORQUE ALL 3/8" BOLTS TO 180 IN. LBS.

AFTER COMPLETING 
FUSE REPLACEMENT, 

REPLACE OPEN ALARM 
FUSE.  ALARM FUSE MUST HAVE 

SAFETY COVER INSTALLED.

Safety 
Cover 



 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

REMOVE / INSTALL
3/8-16 X 1-1/4" BOLT

3/8" BELLEVILLE WASHER
3/8" FLAT WASHER

TORQUE TO 180 IN. LBS.
(4 PLACES)

(1) RING LUG

(2) RING LUGS

CONTACTOR

CONTACTOR COVER
REMOVE/ INSTALL

 1/4-20 BOLT & 
WASHER (1 PLACE1) 
AND 4-40 SCREWS & 

WASHERS (2 PLACES)

CONTACTOR LEFT SIDE VIEW

RED

WHITE SLATE

BLUE / WHITE

CONTACTOR FRONT VIEW CONTACTOR RIGHT SIDE VIEW

VIOLET(2) VIOLET

(2) RED (1) RED
(1) RED / WHITE

BLUE
NO

CONNECTIONRED

RED

WHITE



 

 

 

 

 

 

 

 

 

 

 

 



SHUNT POD
CIRCUIT CARD A2

P/N 501981 

FUSE ALARM
CIRCUIT CARD A1

P/N 486339800

FRONT VIEW
(DOOR NOT SHOWN)

T
B

1

1
0

1

J1



 

 

 

 

 

 

 

 

 



 

 

 

 

 




	Admonishments Used in this Document
	Important Safety Instructions
	General Safety
	Voltages
	DC Output and Battery Voltages

	Battery
	Handling Equipment Containing Static Sensitive Components
	Maintenance and Replacement Procedures

	Static Warning
	Description
	INSTALLATION
	Safety Statement
	Removing the Front Access Door
	Mounting the Battery Disconnect Panel
	Wall Mounting
	Rack Mounting

	User Selections
	Shunt Monitoring (Shunt POD) Circuit Card
	Setting Shunt Capacity Selection Switches
	Procedure:

	Setting Shunt POD Identification Switch
	Procedure:



	Electrical Connections
	Wiring Considerations
	Equipment Grounding Connection (Frame Ground)
	Installing Optional Accessory Busbar Rear Extension Kit
	Input (Battery) Connections
	Output (Load) Connections
	External Alarm, Reference, and Control Connections
	External Alarm, Reference, and Control Connections to a Vortex® or NETSURE™ Power System
	Spec.No. 581125000, 582125000 or 582126000 Power System
	Spec. No. 582121900 Distribution Bay
	Spec. No. 582121901 Distribution Bay



	Initially Starting and Checking Operation
	Initial Startup
	Checking Door Alarm (if connected)
	Procedure:

	Checking Contactor Alarm
	Checking Fuse Alarm
	Checking EPO (Emergency Power Off) Function
	Final Steps


	OPERATION
	Controls and Indicators

	REPAIR PROCEDURES
	Safety Statement
	Door Alarm Cutoff Feature
	Replacing the Fuse
	When replacing the fuse, it is recommended that the fuse mounting hardware also be replaced.  Refer to System Application Guide SAG586400200 for part numbers for fuses and a fuse hardware kit.
	Procedure to Remove Fuse:
	Procedure to Install Fuse

	Replacing the Contactor
	Procedure to Remove Contactor
	Procedure to Install Contactor

	Replacing a Shunt POD Circuit Card (Part No. 501981)
	Procedure:

	Replacing a Fuse Alarm Circuit Card (Part No. 486339800)
	Procedure:



